bbbttt tobogbod

gogn gogobbobbbodoooooboooboboo

godn gooobobbbouoggooon

HEN .00/0

goon 0 0O :HDF-300WQ
gooo:oooooon
0odobD:1100 cmO

goon gooobobbodooooon

ERERERN 13910138475 13439119236

ot

HRN HDF-300WQ oooo ggooogo

goooo 11000 cmJ oo 120 kwl

gobooo 630000 wlI 0 22000 vU

HEN 210000 kg HEN goooo

oog00/000000000000
00000 hdf-300wq

O O kmol/h0 O mpa

U4 87.4570.01

Uodong 128.340.01

0odg 1351035

2000000 00.0ompad L 0.02mpa
g3duoboogoogiu4

400 00ogg2sd
gs0dutnnbndd4o-son

el 000D OesH




g7dodoododooooooood
0000000 O00400mmh2o0 O O O 300mmh2o
00000000000 5bar(a)
O0O000000O00 11 bar(a)

goboooooooo 3000

30000000000
A000000

00000

al2030 = 98%

fe2030 O 0.3%

sio20 0 0.2%

0ooo

000 ;2 17900

00000 3.1g/em3
00000 190 21%
0000000 = 60mpa
oooo:

10000 < 2.00 2.1 w/(mO k)

8000 < 1.90 2.0 w/(mO K)
00000 (00012000 )8.6x 10-6 mm/(mmO O)
00C0O0O00002mpad = 170000
50000000000 Ig-1.00
0ooo

al2030 = 50%

fe2030] O 2%



sio2[]

gogd

0od := 17500

DO0000 1.0g/em3
ooooo = 23%
Jgoogdoibd = 4.5mpa
gooo:

35000 < 0.58 w/(mO k)
00000 (00 012000)5.8x 10-6 mm/(mmO O)
OO0dooooo2mpall = 14200
euooogad

gogd

al2o30 = 35%

fe2030] 0 2%

sio2] [0 45%

gogd

0o0gd := 13700 13800
100000000 1.0g/cm3
Jo0dool1oddd = 0.53mpa
OO00dooeoddd = 0.79mpa
googooboon:

60000 < 0.25 w/(m.k)

80001 < 0.256 w/(m.k)

00000 (8000)0 < -0.35%
ODO00000 87508800 (0 0)

9400 10050 (O O 4%)



moogogo

goggg

al2o30 = 95%

fe20300 [J 0.3%

sio2[1 [0 0.2%

goggg

Ood .= 17900

DO0O000 3.1g/em3
O0000OD0O1100 x 24h01 O = 50mpa
gooo:

10000 £ 1.8 w/(m0 k)

80000 < 1.700 1.8 w/(mO k)

00000 ((00012000)7.8x 10-6 mm/(mmO O)
Joooono = 17000

Ooododo <03%
guoooooon

goggg

al2o30 = 95%

sio2[1 [0 0.7%

goggg

00001100 00)0 = 1.4g/em3
godooluodoodd = 10mpa
godool00 0000 = 3.5mpa
gooo:

10000 £ 0.9 w/(mO k)

50001 < 0.95w/(m0 K)



0000002000 00)< 0.15%
ouoooooooboon
googao

al2o30 640 68%

fe2030) 2%

sio2[] < 4.5%

googao

Ood .= 17900
110000000 1.79/cm3
000001100 x 72h0 0 = 12.1mpa
goouododgo:

65000 < 0.58 w/(m0 k)
Joooon = 13800
noooggo

googao

al2o30 = 98%

fe20300 [0 0.3%

sio2[1 [0 0.2%

ooon

god:= 17900
DO0O000 3.1g/em3
O0o0oo 190 21%
0000000 = 60mpa
agoon:

10000 < 2.00 2.1 w/(mO k)

80001 < 1.900 2.0 w/(m( k)



00000 (00012000 ) 8.6% 10-6 mm/(mm.O)
Ooodooooo2mpall = 17000

110000

godooggo

Oooodoono 12600

O O O 190kg/m3

120000

guooobood


http://www.tcpdf.org

